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c&zgéjr:ililn;:::c?;::;co 18 gennaio 2023 Scomposizioni (raccoglimenti e differenze di quadrati) - Fla A

(a—b)2 —(a-b)=(a—b)(a—b—-1)

2x =3P+ (2x—-32=2x—-3)?QRx—-3+1)=2x—-3)?Qx-2)=22x—-3)3(x—-1)

a’x—x+a’y—y=x@@-1D+y@@-1D=@@-Dkx+y)=(a—Da+1D(x+y)

3ax? —6x?—3a+6=3(ax?*—-2x2—a+2)=3[x*(a—-2)—1(a—2)] =

=3@-2)x*-1)=3(a-2)(x+1)(x—1)

2a3b? — 12 a?b* + 4ab® — 24b® = 2b%(a® — 6a%b? + 2ab* — 12b°%) =

= 2b%[a?(a — 6b?) + 2b*(a — 6b?)] = 2b*(a — 6b*)(a® + 2b*)

25a°b® — a®b = a®b(25a%b? — 1) = a®b(5ab — 1)(5ab + 1)

81a® —a = a(8la* — 1) = a(9a® — 1)(9a* + 1) = a(3a — 1)(3a + 1)(9a® + 1)

(~2a+2p) = (Fa+ip) = (-2a+ib+la+ip)(-2a+ib-2a-2b) = (~a+b)(-2a+1b)

—x0y2 + 16 x?™6 = x0(—y? + 16 x2™) = x°(—y + 4x™)(y + 4x™)

10. (ab+3)2—-9=(ab+3—-3)(ab+3+3)=ab(ab+6)



